Potencias de 10 (D)

3,501 =100

5,16 100

5,593 +100

4,165 = 100

7,412 =100

8,998 + 100

1,77 = 100

3,537 + 100

0,033 =100

9,141 +100

Calcule los siguientes cocientes.

2,654+ 100

0,601 = 100

0,272+ 100

5,317 =100

9,049 =100

6,349 =100

1,574+ 100

2,904 + 100

0,23 =100

8,931 +100
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Potencias de 10 (D) Respuestas

3,501 + 100
0,03501
5,16+ 100
0,0516
5,593+ 100
0,05593
4,165+ 100
0,04165
7,412+ 100
0,07412
8,998 = 100
0,08998
1,77 =100
0,0177
3,537 =100
0,03537
0,033 =100
0,00033
9,141+ 100
0,09141

Calcule los siguientes cocientes.

2,654+ 100
0,02654
0,601+ 100
0,00601
0,272+ 100
0,00272
5,317+ 100
0,05317
9,049 = 100
0,09049
6,349 = 100
0,06349
1,574 =100
0,01574
2,904 = 100
0,02904
0,23+ 100
0,0023
8,931+ 100
0,08931
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